
Air release valve HaVent® (PN 25)
Part list 987-03

Nr. Menge Kurzbezeichnung Material

1 1 Housing stainless steel
2 1 O-ring 116x4 EPDM
3 5 Hexagon screw M8x16 stainless steel
4 5 Flat washer stainless steel
5 1 Housing upper part stainless steel
6 1 Ball valve 1/4“ Ms
7 1 Outlet elbow with 

strainer d 63 with female 
thread 2“

PE

8 1 Post rod PN25 POM
9 1 Float PP

10 1 Gasket POM
11 1 Gasket small EPDM
12 1 Valve-basket-PN 25 POM
13 1 Nozzle-PN25 stainless steel
14 1 O-ring 6x1.5 EPDM
15 1 Screw for nozzle POM
16 1 Flat gasket EPDM
17 1 Nut M10 stainless steel

A

A

1

6

17

8

9

10

11

14

16

12

2

5

7

3 4

13

15

POS-NR. MENGE Bezeichnung Material Produktnummer

17 1 Mutter M10 DIN982 
A2 1.4301 / 1.4305 8637001080

16 1 Flachdichtung EPDM 60 Sh 9878000700

15 1 Düsenschraube POM 9878000610
14 1 O-Ring 6x1.5 EPDM 70Sh 9878001616

13 1 Düse-PN25 1.4571 9878001610

12 1 Ventilkorb-PN 25 POM 9878000410

11 1 Dichtung-klein EPDM 60 Sh 9878001615

10 1 Dichtungsaufnahme POM 9878001620

9 1 Schwimmer PP 9878000300

8 1 Führungsstange 
PN25 POM 98780530

7 1 Auslassbogen mit 
Sieb PE 100 9878001300

6 1 Kugelhahn-1_4Zoll 
IG-AG DVGW Ms vernickelt 8340001100

5 1 Gehäuseoberteil 1.4571 oder 
1.4404 98780110

4 5 Passscheibe      d 
8x14.0x0.5 A2 98780920

3 5 Inbusschraube 
M8x16 DIN912 A4 A4 50982080

2 1 O-Ring 116x4 EPDM 70Sh 9922990033

1 1 Gehäuse 1.4571  .

H
IN

W
EI

S:
 S

äm
tli

ch
e 

In
fo

rm
at

io
ne

n,
 d

ie
 in

 d
ie

se
m

 D
ok

um
en

t e
nt

ha
lte

n 
si

nd
, s

in
d 

ST
R

EN
G

 V
ER

TR
AU

LI
C

H
. J

ed
er

 E
m

pf
än

ge
r d

ie
se

s 
D

ok
um

en
ts

 d
ar

f d
ie

 d
ar

in
 e

nt
ha

lte
ne

n 
In

fo
rm

at
io

ne
n,

 d
ire

kt
 o

de
r i

nd
ire

kt
, n

ur
 m

it 
au

ss
ch

lie
ss

lic
he

r, 
sc

hr
ift

lic
he

r Z
us

tim
m

un
g 

de
r F

irm
a 

H
aw

le
 A

rm
at

ur
en

 G
m

bH
 a

n 
D

rit
te

 w
ei

te
rg

eb
en

 o
de

r o
ffe

nl
eg

en
. D

ie
 F

irm
a 

H
aw

le
 

Ar
m

at
ur

en
 G

m
bH

 b
eh

äl
t s

ic
h 

al
le

 R
ec

ht
e 

in
 B

ez
ug

 a
uf

 U
rh

eb
er

re
ch

ts
ge

se
tz

, P
at

en
t- 

un
d 

G
eb

ra
uc

hs
m

us
te

rs
ch

ut
z 

vo
r. 

Li
ze

nz
re

ch
te

 w
er

de
n 

hi
er

du
rc

h 
ni

ch
t e

rte
ilt

.

N
O

TE
: T

he
 in

fo
rm

at
io

n 
or

 m
at

er
ia

l c
on

ta
in

ed
 in

 th
is

 d
oc

um
en

t i
s 

ST
R

IC
TL

Y 
C

O
N

FI
D

EN
TI

AL
 a

nd
 a

ny
 re

ci
pi

en
t o

f t
hi

s 
do

cu
m

en
t i

s 
no

t a
llo

w
ed

 to
 d

is
cl

os
e 

or
 d

iv
ul

ge
, d

ire
ct

ly
 o

r i
nd

ire
ct

ly
, t

hi
s 

do
cu

m
en

t o
r t

he
 

in
fo

rm
at

io
n 

or
 m

at
er

ia
l c

on
ta

in
ed

 h
er

ei
n 

w
ith

ou
t t

he
 w

rit
te

n 
co

ns
en

t o
f t

he
 c

om
pa

ny
 H

aw
le

 A
rm

at
ur

en
 G

m
bH

. A
ll 

co
py

rig
ht

, t
ra

de
m

ar
ks

, p
at

en
ts

 a
nd

 o
th

er
 ri

gh
ts

 a
re

 e
xp

re
ss

ly
 re

se
rv

ed
 b

y 
th

e 
co

m
pa

ny
 H

aw
le

 
Ar

m
at

ur
en

 G
m

bH
. N

o 
lic

en
se

 ri
gh

ts
 a

re
 g

iv
en

 h
er

eb
y.

© 2017

ISO
8015

 .

 .

 .

 .

 .

 .

 .

 .

 .

Werkstückkanten:

Koord.

Gewicht: Blatt: 1/1

Pfad Modell:
Pfad Zeichnung:

 .  .
 .  .

 .
 .

 .  .  .
 . . .

 .

 .  .
 .  .

 .

 .  .  .

20.11.2017

 . . .

 .

20.11.2017 / hg

 .

 .

HaVent PN 25 mit Schweißgehäuse d154-Katalog

 .

2703.09 cm³8.62 kgHAWLE ARMATUREN GMBH
Liegnitzer Str.6                 Tel: 08654/6303-0
83395 FREILASSING      Fax: 08654/6303-333

NameDatum

Gepr.+freig

Zeichnung
erstellt:

Masstab: 1:5

Format:

Zeichn.Index:

Zuletzt gespeichert am / von:

Art.Nr.

Bezeichnung:

Volumen:

Zeichnungsart:

Material:

Allgemeintoleranzen:

NameDatumÄnderungZust.

 .

s:\bev\havent\havent-gehäuse überarbeitung\cad-daten\neu deckelverschraubung\havent pn 25 mit schweißgehäuse d154.sldasm

HGR

 .

 .

s:\bev\havent\havent-gehäuse überarbeitung\cad-daten\neu deckelverschraubung\havent pn 25 mit schweißgehäuse d154_1.slddrw

292458 / 026

 .

A2
A A

B B

C C

D D

E E

F F

G G

H H

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

www.hawle.de 04/2024 -  subject to change without notice


